it secfifRue aher
(2023- 2024)
INES R E |

Model Question Paper

FAT-12 fRwg- BMT qHY- 3 HeT quTte-80

AT He9T:-

Tdremeff FemEvE 37U veEt A SR )

Candidates should answer in their own words as much as possible.
Tt wor erframa 2

All questions are compulsory.
el T T HEAT 52 7
Total number of questions is 52.

T4 1 | 30 Tk agfoeicaa T ¥ | T T % O frewew fag e # o frewew @ wmm fifiwn
T T % forT 01 afes Frartfa 31

Question No. 01 to 30 are multiple choice questions, each question has four options. Select the correct
option. Each question carries 01 mark.

T TEAT 31 | 38 Tk ST oY I U 71 o™ o FoRet 6 St 61 IR 4 Srfard ¥1 ek et 6
o 2 3k fruifa 21
Question numbers 31 to 38 are very short answer questions. Out of which it is mandatory to answer any 6

questions. Each question carries 02 marks.

T TEAT 39 T 46 Tk 1Y I T B e & FoReeft 6 et a1 v 3 orframt 71 v w wr Ee 3
st Fraifa 21
Question numbers 39 to 46 are short answer questions. Out of which it is mandatory to answer any 6

questions. Each question carries 03 marks.

T TEAT 47 & 52 <reh I 7 Bl TR 4 9t Rt SR 3T Arfe ¥1 Ieieh 99 ot A 5 aies FuifE
2
Question numbers 47 to 52 are long answer questions. It is mandatory to answer any 4 questions. Each

question carries 05 marks.

1. 3=hA 5, 7,9, 11, ... T lT-AT g 27 gam-
Which term will be 27 the sequence 5, 7, 9, 11, .....
(a) 13ar
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(b) 12ar
(c) 11af
(d) 10ar
2. Ofg AT AP. # t, =3n+5 ar 39 A. P. & UgledX gHTl-
In an A. P. if t, =3n+5 then the common difference will be:
(a) 1
(b) 2
(c) 3
(d) 4
3. A& 70, k, 100, A.P. & g o & AT &-
If 70, k, 100 are in A.P. the value of k is:
(a) 80
(b) 85
(c) 90
(d) 95

4. a duT b &1 ?rU'I’I?iTo ATET - Geometric mean of a and b is:
a+b

) 2
(b) ab?
(c) Vab
(d) 377 & 1S A& (None of these)
5. Ueh JUNR AT # T Ug 4 &1 $Hb GUH 5 &l HT JUABA g- The 3rd term in
a G. P. is 4. The product of first 5 terms is :
(a) 256
(b) 2,048
() 512
(d) 1,024
6. Aol 2.8.32 &7 UYgol UTT Uel T AT §- The sum of first five terms of the series
2.8.32... is):
(a) 682
(b) 748

(a
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(c) 996

(d) 1024
8

S AT 4 & S §cAS AT T &7

What does the harmonic mean between g and 47?

~_~ o~ o~ o~
O O Q

Q.
" N N N
aEREEINN

8. Ifg 'sp,= 2,730 & AT & AT gHT-
If "*p, = 2,730 then the value of r will be:
(@) 3
(b
(c
(d
9. 3 UFIAT FT 6 SATH A & dlh SIdfeh Ueh oTidd al fehcdel ol 3ATH AT T g,
ghar-

The number of ways in which 6 prizes can be given to 3 persons, if a person

)
)
)
)

may get any number of prizes is:
(a) 3°
(b) 6°
(c) °P3
(d) °Cs
10.5 <afFd T Ma AT & IRT 3R fhdsr s F 96 THhd 82 In how many ways 5
persons can sit around the circular table?
(a) 4
(b) 8
(c) 12
(d) 24
1.3 () | §= 0, aF x T & & (then the value of x is ) :
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a

(@)
(b)
(c)
(

0 w

Cc

d) 318 & #15 Agr (None of these)

12. (i) | §| = |168 2| a9 x = & (then x is equal to):
(a)

(b)

(c)

Cc

6
+6
—6
(d) 0
13. 9T 3MTegg A afedqdl & dear g &-
In a row matrix, the number of row is :
(a) 1
(b) 2
(c) 3
(d) 377 & *1s A&T (None of these)

14. 4R (1f) A = [} 2], & (then) 4% =2

2 3
9 7

@[, 11]

18 7

(©) {14 11]

18 17
© 14 11
17 18
@111 14

15. 3R (If) A = i g]&ﬂT(and)B= [:}} :g]a’rA-me;rm(then the

value of A- B will be) :

@[ o

3 6
(b) L8 10]
[—2 -9

© 16 —25]
—1 O

@[y 4l

16.7f¢ FASE F=g X = [1.2.3. .20] A = (1.2.3.4.5) (A") & AT g
(If universal set X = {1, 2, 3 .... 20), A{1, 2, 3, 4, 5) then the value of (A") will
be:
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(@) {1, 2, 3, 4, 5}

(b) (6, 7, 8, 9 ... 20)
() {1, 2, 3}

(d) (5, 6, 7, 8)

17. R qoay qell doeay ... g .

)
)
)
)

(Null set is a............... of all sets) :
(a) HH=TT (set)
(b) 39EH=IAT (sub-set)
(c) T (super set)
(d) Uehel HHTY (single for set) &
18.x & QIUET 3x* HT Ndehelsl IUTH BN :
The differential coefficient of 3x* w.r.t. x will be:
(a) 16x
(b) 16x?
(c) 12x3
(d) 4x3
19.3f (If) y = 2log,x (then) d—y ST £ (is equal to):
(@) x
(b) 1
(c) 0
(d) y
20. [(2x +3)° dx =7
o e
(b) &4 ¢
©) “’“*3)

+ C
(d) 3=T-|?3f T AS A&7 (None of these)

21.12 9Rart i &fas Al FaAer (Daily wages of 12 families are) 280, 180, 96,
98, 104, 75, 80, 94, 100, 75, 600 200 g | HHATAX HET I 0T FHA
(Respectively what is the Arithmetic mean.)

(a) 165.16

SIRAUS IISID 3foRielel ud Ufdrgir ufdg, fdt [t udtedn) - IBI)2023- 2024( Page 5 of 11



(b) 182
(c) 171
(d) 178
22 ATy, $wo1g Ygid @I T 3redT fafer § @ifh : (The AM. is best measure of
central Tendency because :)
(a) @& TR AT (Most stable measure)
(b) 0T ¥ H 3T (Easy to calculate)
(c) Tl Heal 9T ek (Based on all observation only)
(d) @ (Al
23.7: W&t & 3T 8 B AAdl HEAr &4 g forad 3Ed 10 g 9 ?
(The average of 6 numbers is 8. What is the 7th number so that the average
becomes 10 ) :
(a) 23
(b) 22
() 21
(d) 20
24.80, 100, 90, 170, 60, 50, 40 &1 HAIRISH §- (median is)
(a) 80
(b) 170
(c) 90
(d) 60
25. AT & fadel=ir &l I, 8iar & (The sum of the deviation from median, is) : -
(@) HA-T -&HA (Minimum)
(b) 0
(c) 31T+ (More)
(d) 377 & *1% A&r (None of these)
26.108, 92, 43, 0, 6, 11, -2, 15 &r AeIHr & (Median of 108,92,43, 0, 6, 11, -2,
15 is):
(a) 8
(b) 8.5
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(c) 9
(d) 9.5
27. eafaf@d & & sia-ar aAforda #Areg 5§ g2 (Which of the following is not a
mathematical mean?)
(a) Sgelh (Mode)
(b) UM ATEA (Geometric Mean)
(c) HHIAX ATET (Arithmetic Mean)
(d) 8cHA ATET (Harmonic Mean)
28.40 AT Holgy & TH FHAg 1 A dcdel 5,200 FfdaArg & 3R STafh 60 g
HoleIl & FHg T 3 da=l 6,800 UITHATE &1 T dceT FAT g2 (Average

salary of a group of 40 women workers is %5,200 per month and whenever

average salary of a group of 60 men workers is 26,800 per month. What is

mixed salary?)

(a) 6,160

(b) 6,280

(c) 6,890

(d) 6,920

29.1, 5T 25 & UIUﬂ?lT AT g- (The GM. of 1, 5 and 25 is :)
(@) 25
(b) 15
(c) 5
(d) 125

30. @ & O FiaT Gr gFa= Tor g7
(Which of the following relationship is correct?)

(@) AM.= VG.M.x H.M.
(b) HM.= VA M.XG.M.
(c) G.M.= VA M.XH.M.

AM.+H.M.
(d) G.M.= 2
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eri%l?rg I Uy (Very Short Answer Type Questions) 6*2=12

31.FAR AT 3, 8, 13, 18, & 10T 9¢ AT AT |
Find the 10th term of the A. P. 3, 8, 13, 18,...........
32.af¢ "p, = 360, dF n &1 AT AFIfAT]
If "p, = 360, then find the value of n.
33.af () | i| = 24 A% x & A FHOAT (then find the value of x )
34 fArafaf@a gFe & AU wafordy Ay Ard HfFT

Find the Arithmetic Mean of the following data:

IMFR (Size) 0 1 2 3 4 5 6 7 8

g (Frequency) 1 9 26 | 59 | 72 | 52 | 29

35.arer $r ST R HeT IS 52 Al I Tk TSI ¥ U SIG2ME IT Teh Jedl UIed el
T FFEATTAT AT & ?
What is the probability of getting a king or a queen from a well shuffled pack
of 52 cards?

36. Frel Al faelNoT & 1T T FASIT g ?
What do you understand by analysis of time series?

37.5 3R 20 & IJUIRR AT FAT &7
What is the Geometric Mean of 5 and 207

38. F=IfaI @ Aul & hieT A1 9g &1 AT 27 § ?

oayq I UH) Short Answer Type Questions(:- 6*3=18
39. Arafaf@a Aol &1 &t ug g Sz AT HfAw :

Find the sum of the following series upto 9™ term :

9 12
2‘/§+\/_§+E+"" ......
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40.9f¢ (If) "Cs = "C; |l n & AT AT HITAT (find n).

41.X 3R Y arag ffae, 3fe (Find X and Y, if)
X+Y=[; g]aﬂT(and)X—Y=[g g

42.9% (IH A={3,5 7, 9}:B=1{6, 8, 10} a (then find) (@) AU B (b) A n B
AerforT .

43.3% (If) y = 525 @ (then find) & fefere .

x2+

44 A5 gRolt & AL Hod Aenrfav -

Calculate the value of Median from the following table -

HAGY (¥ H)
_ 30-40 40-50 50-60 60-70 70-80
(Wages in Rs)
AT hr &I
50 54 85 45 30
(No. of workers)

45. fF=T gl @ fAvew AT HIST

Find mode from the following table :

qq (Size) 0-10 10-20 20-30 30-40 40-50 50-60

g (Frequency) 40 30 18 12 10 5

46. I "Cqp = "Cy, @l "Cs feIfeiw
If "Cyp ="Cy2 then find "Cs
aﬁﬁtﬁlﬁq YA (Long Answer Type Questions):- 4*5=20
47.1 =giFd ¥700 TidAg ade R fagerd fohar o | @gfda & od O & g ay
38 %740 i #AE , R ¥ 780 widHATE 3R 3 Re dd gefTr gel | A
HIfaIT T 10 a¥ & 37d deh 38 fohclell dael el ?

A person was appointed at a salary of ¥700 p.m. The condition of appointment

was that he would receive ¥740 p.m. in the second year, ¥780 p.m. in the third
year and so on. Find the total salary he would expect to have received by the

end of 10 years.
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48. AFfafad Afed &1 Fosher AITAT

Find the inverse of the following matrix:

0 1 2
A=[123]

311

49.5000 el & Teh AT A 2800 & RGEA Fodd & 3R 2300 ofleT T8I W’ Tod
& 3T 400 gt ged & | fFasr T FI$ FARR 97 78 Tod ?
In a town population 5000, 2800 persons read Hindustan, 2300 read Prabhat

Khabar and 400 read both. How many do not read any newspaper?

50. faie=T gy faeRoT & 31T IMGRY T IAT ISV AR AT HT IhIOIHT AT 22
ar -
In the following frequency distribution locate the missing frequency, if arithmetic

mean of the series is 22 -

qc (Size) 0-10 10-20 20-30 30-40
g (Frequency) 1 3 ? 2
51. a8 HTeeRaToTeT AfT &7 AT IS §T 2013 & forw Famfaa gaepier AT HSw

Using any Interpolation method find out the likely index Number for 2013 from

the following table:

Year 2011 2012 2013 2014 2015

Index No. 100 107 Y2 157 210
sz.wmaaasqﬁmaqamaﬁﬁﬁ|mﬁﬁ3ﬂ?mqawwzgaﬂw

1

S @

Find first three term of a H.P. whose fourth and eight terms are % and

1 .
3 respectively.
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ANSWER KEY
CLASS-12™
SUBJECT-BMT

Q.NO. | ANSWER | Q.NO. | ANSWER
1 D 21 A
2 C 22 B
3 B 23 B
4 C 24 A
5 D 25 A
6 B 26 B
7 B 27 A
8 A 28 A
9 A 29 C
10 D 30 C
11 C
12 D
13 A
14 B
15 B
16 A
17 B
18 C
19 B
20 C
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